

Extrato de faturamento: 2019-09-01 a 2019-09-30 Nome: Rafael Silva

Data da impressão: 2019-09-16 Número da conta: 870602283122

Total estimado \$1,067.43

O valor total faturado será exibido depois que uma fatura for emitida.

Detalhes

S Service Charges		\$1,067.43
CloudFront		\$2.43
Asia Pacific		\$0.00
Amazon CloudFront AP-Requests-Tier1		\$0.00
\$0.0090 per 10,000 HTTP Requests	20 Requests	\$0.00
Amazon CloudFront AP-Requests-Tier2-HTTPS		\$0.00
\$0.012 per 10,000 HTTPS Requests	929 Requests	\$0.00
Bandwidth		\$0.00
\$0.140 per GB - first 10 TB / month data transfer out	0.011 GB	\$0.00
Australia		\$0.00
Amazon CloudFront AU-Requests-Tier2-HTTPS		\$0.00
\$0.0125 per 10,000 HTTPS Requests	321 Requests	\$0.00
Bandwidth		\$0.00
\$0.114 per GB - first 10 TB / month data transfer out	0.003 GB	\$0.00
Canada		\$0.00

	5 5	
Amazon CloudFront CA-Requests-Tier1		\$0.00
\$0.0075 per 10,000 HTTP Requests (Canada)	122 Requests	\$0.00
Amazon CloudFront CA-Requests-Tier2-HTTPS		\$0.00
\$0.0100 per 10,000 HTTPS Requests (Canada)	2,812 Requests	\$0.00
Bandwidth		\$0.00
\$0.085 per GB - first 10 TB / month data transfer out (Canada)	0.053 GB	\$0.00
Europe		\$0.05
Amazon CloudFront EU-Requests-Tier1		\$0.00
\$0.0090 per 10,000 HTTP Requests	444 Requests	\$0.00
Amazon CloudFront EU-Requests-Tier2-HTTPS		\$0.02
\$0.0120 per 10,000 HTTPS Requests	15,763 Requests	\$0.02
Bandwidth		\$0.03
\$0.085 per GB - first 10 TB / month data transfer out	0.338 GB	\$0.03
India		\$0.00
Amazon CloudFront IN-Requests-Tier2-HTTPS		\$0.00
\$0.0120 per 10,000 HTTPS Requests (India)	247 Requests	\$0.00
Bandwidth		\$0.00
\$0.170 per GB - first 10 TB / month data transfer out (India)	0.003 GB	\$0.00
Japan		\$0.00
Amazon CloudFront JP-Requests-Tier1		\$0.00
\$0.0090 per 10,000 HTTP Requests	59 Requests	\$0.00
Amazon CloudFront JP-Requests-Tier2-HTTPS		\$0.00
\$0.012 per 10,000 HTTPS Requests	427 Requests	\$0.00
Bandwidth		\$0.00

	Dilling Wanagement Console	
\$0.114 per GB - first 10 TB / month data transfer out	0.003 GB	\$0.00
Middle East		\$0.00
Amazon CloudFront ME-Requests-Tier2-HTTPS		\$0.00
\$0.0120 per 10,000 HTTPS Requests	167 Requests	\$0.00
Bandwidth		\$0.00
\$0.110 per GB - first 10 TB / month data transfer out	0.002 GB	\$0.00
South Africa		\$0.00
Amazon CloudFront ZA-Requests-Tier1		\$0.00
\$0.0090 per 10,000 HTTP Requests	16 Requests	\$0.00
Amazon CloudFront ZA-Requests-Tier2-HTTPS		\$0.00
\$0.0120 per 10,000 HTTPS Requests	372 Requests	\$0.00
Bandwidth		\$0.00
\$0.110 per GB - first 10 TB / month data transfer out	0.010 GB	\$0.00
South America		\$1.48
Amazon CloudFront SA-Requests-HTTP-Proxy		\$0.00
\$0.0160 per 10,000 Proxy HTTP Requests (South America)	10 Requests	\$0.00
Amazon CloudFront SA-Requests-Tier1		\$0.00
Amazon CloudFront SA-Requests-Tier1 \$0.0160 per 10,000 HTTP Requests	514 Requests	\$0.00
·	514 Requests	
\$0.0160 per 10,000 HTTP Requests	514 Requests 269,656 Requests	\$0.00
\$0.0160 per 10,000 HTTP Requests Amazon CloudFront SA-Requests-Tier2-HTTPS	·	\$0.00 \$0.59
\$0.0160 per 10,000 HTTP Requests Amazon CloudFront SA-Requests-Tier2-HTTPS \$0.0220 per 10,000 HTTPS Requests	·	\$0.00 \$0.59 \$0.59
\$0.0160 per 10,000 HTTP Requests Amazon CloudFront SA-Requests-Tier2-HTTPS \$0.0220 per 10,000 HTTPS Requests Bandwidth \$0.125 per GB - All data transfer out to Origin (South	269,656 Requests	\$0.00 \$0.59 \$0.59 \$0.89
\$0.0160 per 10,000 HTTP Requests Amazon CloudFront SA-Requests-Tier2-HTTPS \$0.0220 per 10,000 HTTPS Requests Bandwidth \$0.125 per GB - All data transfer out to Origin (South America)	269,656 Requests 0.000002 GB	\$0.00 \$0.59 \$0.59 \$0.89 \$0.00
\$0.0160 per 10,000 HTTP Requests Amazon CloudFront SA-Requests-Tier2-HTTPS \$0.0220 per 10,000 HTTPS Requests Bandwidth \$0.125 per GB - All data transfer out to Origin (South America) \$0.250 per GB - first 10 TB / month data transfer out	269,656 Requests 0.000002 GB	\$0.00 \$0.59 \$0.59 \$0.89 \$0.00

\$0.0075 per 10,000 Proxy HTTP Requests (US)	93 Requests	\$0.00
Amazon CloudFront US-Requests-HTTPS-Proxy		\$0.00
\$0.0100 per 10,000 Proxy HTTPS Requests (US)	4 Requests	\$0.00
Amazon CloudFront US-Requests-Tier1		\$0.00
\$0.0075 per 10,000 HTTP Requests	1,364 Requests	\$0.00
Amazon CloudFront US-Requests-Tier2-HTTPS		\$0.40
\$0.0100 per 10,000 HTTPS Requests	404,374 Requests	\$0.40
Bandwidth		\$0.50
\$0.020 per GB - All data transfer out to Origin (US)	0.000012 GB	\$0.00
\$0.085 per GB - first 10 TB / month data transfer out	5.856 GB	\$0.50
oudWatch		\$0.00
Any		\$0.00
AmazonCloudWatch DashboardHour		\$0.00
First 3 Dashboards per month are free.	1.496 Dashboards	\$0.00
South America (Sao Paulo)		\$0.00
Amazon CloudWatch		\$0.00
\$0.00 per alarm metric month - first 10 alarm metrics	0.498 Alarms	\$0.00
\$0.00 per request - first 1,000,000 requests	5,952 Requests	\$0.00
US East (N. Virginia)		\$0.00
Amazon CloudWatch		\$0.00
\$0.00 per alarm metric month - first 10 alarm metrics	5.482 Alarms	\$0.00
\$0.00 per metric-month - first 10 metrics	4.682 Metrics 10,058 Requests	\$0.00 \$0.00
\$0.00 per request - first 1,000,000 requests	10,036 Requests	
AmazonCloudWatch PutLogEvents		\$0.00
First 5GB per month of log data ingested is free.	0.000010 GB	\$0.00
AmazonCloudWatch USE1-TimedStorage-ByteHrs		\$0.00
First 5GB-mo per month of logs storage is free.	0.000033 GB-Mo	\$0.00

ata Transfer		\$511.77
Asia Pacific (Seoul)		\$0.00
Bandwidth		\$0.00
\$0.000 per GB - first 1 GB of data transferred out per month	0.000000020 GB	\$0.00
Asia Pacific (Sydney)		\$0.00
Bandwidth		\$0.00
\$0.000 per GB - first 1 GB of data transferred out per month	0.000000020 GB	\$0.00
Asia Pacific (Tokyo)		\$0.00
Bandwidth		\$0.00
\$0.000 per GB - first 1 GB of data transferred out per month	0.000000020 GB	\$0.00
EU (Frankfurt)		\$0.00
Bandwidth		\$0.00
\$0.000 per GB - first 1 GB of data transferred out per month	0.000000020 GB	\$0.00
EU (Ireland)		\$0.00
Bandwidth		\$0.00
\$0.000 per GB - first 1 GB of data transferred out per month	0.000000020 GB	\$0.00
South America (Sao Paulo)		\$502.08
AWS Data Transfer SAE1-APE1-AWS-In-Bytes		\$0.00
USD0.0 per GB for in Asia Pacific (Hong Kong)	0.000002 GB	\$0.00
AWS Data Transfer SAE1-APE1-AWS-Out-Bytes		\$0.00
USD0.16 per GB for in Asia Pacific (Hong Kong)	0.000002 GB	\$0.00
AWS Data Transfer SAE1-APN1-AWS-In-Bytes		\$0.00

	3 3	
\$0.00 per GB - South America (Sao Paulo) data transfer from Asia Pacific (Tokyo)	0.000029 GB	\$0.00
AWS Data Transfer SAE1-APN1-AWS-Out-Bytes		\$0.00
\$0.16 per GB - South America (Sao Paulo) data transfer to Asia Pacific (Tokyo)	0.000326 GB	\$0.00
AWS Data Transfer SAE1-APS1-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from Asia Pacific (Singapore)	0.000045 GB	\$0.00
AWS Data Transfer SAE1-APS1-AWS-Out-Bytes		\$0.00
\$0.16 per GB - South America (Sao Paulo) data transfer to Asia Pacific (Singapore)	0.000488 GB	\$0.00
AWS Data Transfer SAE1-APS2-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from Asia Pacific (Sydney)	0.000000110 GB	\$0.00
AWS Data Transfer SAE1-APS2-AWS-Out-Bytes		\$0.00
\$0.16 per GB - South America (Sao Paulo) data transfer to Asia Pacific (Sydney)	0.000000160 GB	\$0.00
AWS Data Transfer SAE1-APS3-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from Asia Pacific (Mumbai)	0.000002 GB	\$0.00
AWS Data Transfer SAE1-APS3-AWS-Out-Bytes		\$0.00
\$0.16 per GB - South America (Sao Paulo) data transfer to Asia Pacific (Mumbai)	0.000005 GB	\$0.00
AWS Data Transfer SAE1-CAN1-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from Canada (Central)	0.000006 GB	\$0.00
AWS Data Transfer SAE1-CAN1-AWS-Out-Bytes		\$0.00
\$0.16 per GB - South America (Sao Paulo) data transfer to Canada (Central)	0.000019 GB	\$0.00

	5 5	
AWS Data Transfer SAE1-CloudFront-In-Bytes		\$0.00
\$0.00 per GB data transfer in to South America (Sao Paulo) from CloudFront	0.089 GB	\$0.00
AWS Data Transfer SAE1-CloudFront-Out-Bytes		\$0.00
\$0.00 per GB data transfer out of South America (Sao Paulo) to CloudFront	0.002 GB	\$0.00
AWS Data Transfer SAE1-EU-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from EU (Ireland)	0.000096 GB	\$0.00
AWS Data Transfer SAE1-EU-AWS-Out-Bytes		\$0.00
\$0.16 per GB - South America (Sao Paulo) data transfer to EU (Ireland)	0.002 GB	\$0.00
AWS Data Transfer SAE1-EUC1-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from EU (Germany)	0.000075 GB	\$0.00
AWS Data Transfer SAE1-EUC1-AWS-Out-Bytes		\$0.00
\$0.16 per GB - South America (Sao Paulo) data transfer to EU (Germany)	0.001 GB	\$0.00
AWS Data Transfer SAE1-EUW2-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from EU (London)	0.000023 GB	\$0.00
AWS Data Transfer SAE1-EUW2-AWS-Out-Bytes		\$0.00
\$0.16 per GB - South America (Sao Paulo) data transfer to EU (London)	0.000148 GB	\$0.00
AWS Data Transfer SAE1-EUW3-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from EU (Paris)	0.000002 GB	\$0.00
AWS Data Transfer SAE1-EUW3-AWS-Out-Bytes		\$0.00

	0 0	
\$0.16 per GB - South America (Sao Paulo) data transfer to EU (Paris)	0.000003 GB	\$0.00
AWS Data Transfer SAE1-USE1-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from US East (Northern Virginia)	31.470 GB	\$0.00
AWS Data Transfer SAE1-USE1-AWS-Out-Bytes		\$52.90
\$0.16 per GB - South America (Sao Paulo) data transfer to US East (Northern Virginia)	330.604 GB	\$52.90
AWS Data Transfer SAE1-USE2-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from US East (Ohio)	0.002 GB	\$0.00
AWS Data Transfer SAE1-USE2-AWS-Out-Bytes		\$0.00
\$0.16 per GB - South America (Sao Paulo) data transfer to US East (Ohio)	0.005 GB	\$0.00
AWS Data Transfer SAE1-USW1-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from US West (Northern California)	0.033 GB	\$0.00
AWS Data Transfer SAE1-USW1-AWS-Out-Bytes		\$0.00
\$0.16 per GB - South America (Sao Paulo) data transfer to US West (Northern California)	0.003 GB	\$0.00
AWS Data Transfer SAE1-USW2-AWS-In-Bytes		\$0.00
\$0.00 per GB - South America (Sao Paulo) data transfer from US West (Oregon)	1.053 GB	\$0.00
AWS Data Transfer SAE1-USW2-AWS-Out-Bytes		\$0.02
\$0.16 per GB - South America (Sao Paulo) data transfer to US West (Oregon)	0.128 GB	\$0.02
Bandwidth		\$449.16
\$0.000 per GB - data transfer in per month \$0.000 per GB - first 1 GB of data transferred out per month	54.120 GB 1 GB	\$0.00 \$0.00

	zimig management consers	
\$0.010 per GB - regional data transfer - in/out/between EC2 AZs or using elastic IPs or ELB	172.949 GB	\$1.73
\$0.250 per GB - up to 10 TB / month data transfer out	1,789.704 GB	\$447.43
US East (N. Virginia)		\$9.69
AWS Data Transfer USE1-APE1-AWS-In-Bytes		\$0.00
USD0.0 per GB for in Asia Pacific (Hong Kong)	0.004 GB	\$0.00
AWS Data Transfer USE1-APE1-AWS-Out-Bytes		\$0.00
USD0.02 per GB for in Asia Pacific (Hong Kong)	0.000041 GB	\$0.00
AWS Data Transfer USE1-APN1-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from Asia Pacific (Tokyo)	0.000014 GB	\$0.00
AWS Data Transfer USE1-APN1-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to Asia Pacific (Tokyo)	0.000113 GB	\$0.00
AWS Data Transfer USE1-APN2-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from Asia Pacific (Seoul)	0.000000070 GB	\$0.00
AWS Data Transfer USE1-APN2-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to Asia Pacific (Seoul)	0.000000040 GB	\$0.00
AWS Data Transfer USE1-APS1-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from Asia Pacific (Singapore)	0.000023 GB	\$0.00
AWS Data Transfer USE1-APS1-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to Asia Pacific (Singapore)	0.000218 GB	\$0.00
AWS Data Transfer USE1-APS2-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from Asia Pacific (Sydney)	0.000000350 GB	\$0.00

	5 5	
AWS Data Transfer USE1-APS2-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to Asia Pacific (Sydney)	0.000000350 GB	\$0.00
AWS Data Transfer USE1-APS3-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from Asia Pacific (Mumbai)	0.000000210 GB	\$0.00
AWS Data Transfer USE1-APS3-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to Asia Pacific (Mumbai)	0.000000040 GB	\$0.00
AWS Data Transfer USE1-CAN1-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from Canada (Central)	0.00000070 GB	\$0.00
AWS Data Transfer USE1-CAN1-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to Canada (Central)	0.00000070 GB	\$0.00
AWS Data Transfer USE1-CloudFront-In-Bytes		\$0.00
\$0.00 per GB data transfer in to US East (Northern Virginia) from CloudFront	0.152 GB	\$0.00
AWS Data Transfer USE1-CloudFront-Out-Bytes		\$0.00
\$0.00 per GB data transfer out of US East (Northern Virginia) to CloudFront	3.052 GB	\$0.00
AWS Data Transfer USE1-EU-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from EU (Ireland)	0.000135 GB	\$0.00
AWS Data Transfer USE1-EU-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to EU (Ireland)	0.001 GB	\$0.00
AWS Data Transfer USE1-EUC1-AWS-In-Bytes		\$0.00

\$0.00 per GB - US East (Northern Virginia) data transfer from EU (Germany)	0.000064 GB	\$0.00
AWS Data Transfer USE1-EUC1-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to EU (Germany)	0.001 GB	\$0.00
AWS Data Transfer USE1-EUW2-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from EU (London)	0.000169 GB	\$0.00
AWS Data Transfer USE1-EUW2-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to EU (London)	0.001 GB	\$0.00
AWS Data Transfer USE1-EUW3-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from EU (Paris)	0.000015 GB	\$0.00
AWS Data Transfer USE1-EUW3-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to EU (Paris)	0.000065 GB	\$0.00
AWS Data Transfer USE1-SAE1-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from South America (Sao Paulo)	299.521 GB	\$0.00
AWS Data Transfer USE1-SAE1-AWS-Out-Bytes		\$0.66
\$0.02 per GB - US East (Northern Virginia) data transfer to South America (Sao Paulo)	33.181 GB	\$0.66
AWS Data Transfer USE1-USE2-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from US East (Ohio)	0.020 GB	\$0.00
AWS Data Transfer USE1-USE2-AWS-Out-Bytes		\$0.00
\$0.01 per GB - US East (Northern Virginia) data transfer to US East (Ohio)	0.025 GB	\$0.00

-0.0	Ziiiiig management Genesis	
AWS Data Transfer USE1-USW1-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from US West (Northern California)	0.001 GB	\$0.00
AWS Data Transfer USE1-USW1-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to US West (Northern California)	0.005 GB	\$0.00
AWS Data Transfer USE1-USW2-AWS-In-Bytes		\$0.00
\$0.00 per GB - US East (Northern Virginia) data transfer from US West (Oregon)	0.190 GB	\$0.00
AWS Data Transfer USE1-USW2-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US East (Northern Virginia) data transfer to US West (Oregon)	0.047 GB	\$0.00
Bandwidth		\$9.03
\$0.000 per GB - data transfer in per month	37.594 GB	\$0.00
\$0.000 per GB - first 1 GB of data transferred out per month	1 GB	\$0.00
\$0.010 per GB - regional data transfer - in/out/between EC2 AZs or using elastic IPs or ELB	2.782 GB	\$0.03
\$0.090 per GB - first 10 TB / month data transfer out beyond the global free tier	100.045 GB	\$9.00
US West (N. California)		\$0.00
AWS Data Transfer USW1-USE1-AWS-Out-Bytes		\$0.00
\$0.02 per GB - US West (Northern California) data transfer to US East (Northern Virginia)	0.000471 GB	\$0.00
US West (Oregon)		\$0.00
Bandwidth		\$0.00
\$0.000 per GB - first 1 GB of data transferred out per month	0.000000020 GB	\$0.00
DynamoDB		\$0.00
US East (N. Virginia)		\$0.00

Amazon DynamoDB		\$0.00
\$0.00 per hour for 25 units of read capacity for a month (free tier)	7,160 ReadCapacityUnit- Hrs	\$0.00
\$0.00 per hour for 25 units of write capacity for a month (free tier)	3,580 WriteCapacityUnit- Hrs	\$0.00
Amazon DynamoDB TimedStorage-ByteHrs		\$0.00
\$0.00 per GB-Month of storage for first 25 free GB- Months	0.629 GB-Mo	\$0.00
Elastic Compute Cloud		\$409.22
South America (Sao Paulo)		\$181.39
Amazon Elastic Compute Cloud running Linux/UNIX		\$131.91
\$0.1488 per On Demand Linux t2.large Instance Hour \$0.153 per On Demand Linux m5.large Instance Hour	290.353 Hrs 579.779 Hrs	\$43.20 \$88.71
EBS		\$48.47
\$0.00 for 480 Mbps per m5.large instance-hour (or partial hour)	579.779 Hrs	\$0.00
\$0.068 per GB-Month of snapshot data stored - South America (Sao Paulo)	212.697 GB-Mo	\$14.46
\$0.19 per GB-month of General Purpose SSD (gp2) provisioned storage - South America (Sao Paulo)	179 GB-Mo	\$34.01
Elastic IP Addresses		\$1.01
\$0.00 per Elastic IP address not attached to a running instance for the first hour	1 Hrs	\$0.00
\$0.005 per Elastic IP address not attached to a running instance per hour (prorated)	201.400 Hrs	\$1.01
US East (N. Virginia)		\$227.83
Amazon Elastic Compute Cloud running Linux/UNIX		\$105.02
\$0.0416 per On Demand Linux t3.medium Instance Hour	241.917 Hrs	\$10.06
\$0.0464 per On Demand Linux t2.medium Instance Hour \$0.0928 per On Demand Linux t2.large Instance Hour	242.072 Hrs 69.271 Hrs	\$11.23 \$6.43
\$0.096 per On Demand Linux m5.large Instance Hour	69 Hrs	\$6.62

	Ziming management contests	
\$0.105 per On Demand Linux c3.large Instance Hour	151.727 Hrs	\$15.93
\$0.192 per On Demand Linux m5.xlarge Instance Hour	68 Hrs	\$13.06
\$0.420 per On Demand Linux c3.2xlarge Instance Hour	99.254 Hrs	\$41.69
Amazon Elastic Compute Cloud running Linux/UNIX Spot	t Instances 🔟	\$2.51
t3.large Linux/UNIX Spot Instance-hour in US East (N. Virginia) in VPC Zone #12	99.139 Hours	\$2.51
Amazon Elastic Compute Cloud running Windows		\$43.25
\$0.1208 per On Demand Windows t2.large Instance Hour	358 Hrs	\$43.25
EBS		\$66.31
\$0.00 for 480 Mbps per m5.large instance-hour (or partial hour)	69 Hrs	\$0.00
\$0.00 for 850 Mbps per m5.xlarge instance-hour (or partial hour)	68 Hrs	\$0.00
\$0.05 per GB-Month of snapshot data stored - US East (Northern Virginia)	536.094 GB-Mo	\$26.80
\$0.10 per GB-month of General Purpose SSD (gp2) provisioned storage - US East (Northern Virginia)	395.127 GB-Mo	\$39.51
Elastic IP Addresses		\$1.87
\$0.00 per Elastic IP address not attached to a running instance for the first hour	1 Hrs	\$0.00
\$0.005 per Elastic IP address not attached to a running instance per hour (prorated)	374.400 Hrs	\$1.87
Elastic Load Balancing - Application		\$8.87
\$0.008 per used Application load balancer capacity unit- hour (or partial hour)	292.154 LCU-Hrs	\$2.34
\$0.0225 per Application LoadBalancer-hour (or partial hour)	290 Hrs	\$6.53
Elastic File System		\$65.04
US East (N. Virginia)		\$65.04
Amazon Elastic File System Standard Storage Class		\$65.04
USD \$0.30 per GB-Mo for Standard storage (USE1)	216.805 GB-Mo	\$65.04

ElastiCache		\$16.59
US East (N. Virginia)		\$16.59
Amazon ElastiCache CreateCacheCluster:0002		\$16.59
\$0.068 per T2 Medium Cache node-hour (or partial hour) running Redis	244 Hrs	\$16.59
Amazon ElastiCache CreateCacheSnapshot		\$0.00
\$0.085 per additional GB-month of backup storage exceeding free allocation	0.000040 GB-Mo	\$0.00
Glue		\$0.00
US East (N. Virginia)		\$0.00
AWS Glue Storage		\$0.00
\$0 for AWS Glue Data Catalog storage under the free tier	1.003 Obj-Month	\$0.00
Key Management Service		\$0.00
South America (Sao Paulo)		\$0.00
AWS Key Management Service sa-east-1-KMS-Requests		\$0.00
\$0.00 per request - Monthly Global Free Tier for KMS requests	9 Requests	\$0.00
US East (N. Virginia)		\$0.00
AWS Key Management Service us-east-1-KMS-Requests		\$0.00
\$0.00 per request - Monthly Global Free Tier for KMS requests	26 Requests	\$0.00
Lambda		\$0.00
US East (N. Virginia)		\$0.00
AWS Lambda Lambda-GB-Second		\$0.00
AWS Lambda - Compute Free Tier - 400,000 GB-Seconds - US East (Northern Virginia)	4.350 seconds	\$0.00
AWS Lambda Request		\$0.00

AWS Lambda - Requests Free Tier - 1,000,000 Requests - US East (Northern Virginia)	15 Requests	\$0.00
Lightsail		\$9.60
Global		\$0.00
Amazon Lightsail USE1-TotalDataXfer-In-Bytes		\$0.00
\$0.00 / GB - data transfer in	5.542 GB	\$0.00
US East (N. Virginia)		\$9.60
Amazon Lightsail Bundle:1GB		\$0.65
\$0.00672/ Hour of 1GB bundle Instance	97.249 Hrs	\$0.65
Amazon Lightsail Bundle:2GB		\$4.81
\$0.0134 / Hour of 2GB bundle Instance	358 Hrs	\$4.81
Amazon Lightsail USE1-DataXfer-Out-Free-Bytes		\$0.00
\$0.00 / GB data transfer out below the plan quota is free	0.076 GB	\$0.00
Amazon Lightsail USE1-SnapshotUsage		\$0.56
\$0.05 / GB-Month of stored snapshot data - US East (Northern Virginia)	11.128 GB-Mo	\$0.56
Amazon Lightsail USE1-TotalDataXfer-Out-Bytes		\$0.00
\$0.00 / GB - data transfer out for US East (N. Virginia)	0.082 GB	\$0.00
Amazon Lightsail USE1-UnusedStaticIP		\$3.58
\$0.00 / hour of Static IP address not attached to an instance (first hour free)	1 Hrs	\$0.00
\$0.005 / hour of Static IP address not attached to an instance	715.001 Hrs	\$3.58
Relational Database Service		\$0.35
US East (N. Virginia)		\$0.35
Amazon Relational Database Service Backup Storage		\$0.35
\$0.095 per additional GB-month of backup storage exceeding free allocation	3.669 GB-Mo	\$0.35

Route 53		\$19.24
Global		\$19.24
Amazon Route 53 DNS-Queries		\$4.04
\$0.40 per 1,000,000 queries for the first 1 Billion queries	10,088,958 Queries	\$4.04
Amazon Route 53 HostedZone		\$15.20
\$0.10 per Hosted Zone for additional Hosted Zones \$0.50 per Hosted Zone for the first 25 Hosted Zones	27 HostedZone 25 HostedZone	\$2.70 \$12.50
Amazon Route 53 Intra-AWS-DNS-Queries		\$0.00
Queries to Alias records are free of charge	1,463,409 Queries	\$0.00
Simple Email Service		\$4.57
US East (N. Virginia)		\$4.57
Amazon Simple Email Service Send		\$4.57
Cost per GB of attachments Cost per recipient of SendEmail or SendRawEmail Cost per recipient of SendEmail or SendRawEmail EC2	0.000079 GB 11 Count 62,000 Count	\$0.00 \$0.00 \$0.00
USE1 Cost per recipient of SendEmail or SendRawEmail invoked from EC2	45,658 Count	\$4.57
Simple Notification Service		\$0.00
South America (Sao Paulo)		\$0.00
Amazon Simple Notification Service SAE1-Requests-Tier	r1	\$0.00
First 1,000,000 Amazon SNS API Requests per month are free	12 Requests	\$0.00
US East (N. Virginia)		\$0.00
Amazon Simple Notification Service DeliveryAttempts-HTTP		\$0.00
First 100,000 Amazon SNS HTTP/HTTPS Notifications per month are free	1,972 Notifications	\$0.00
Amazon Simple Notification Service DeliveryAttempts-Sl	MTP	\$0.00

010	Dilling Wanagement Console	
First 1,000 Amazon SNS Email/Email-JSON Notifications per month are free	3 Notifications	\$0.00
Amazon Simple Notification Service Requests-Tier1		\$0.00
First 1,000,000 Amazon SNS API Requests per month are free	896 Requests	\$0.00
Simple Queue Service		\$0.00
US East (N. Virginia)		\$0.00
Amazon Simple Queue Service Requests-RBP		\$0.00
First 1,000,000 Amazon SQS Requests per month are free	15 Requests	\$0.00
Simple Storage Service		\$26.63
South America (Sao Paulo)		\$13.18
Amazon Simple Storage Service SAE1-Requests-Tier1		\$4.57
\$0.007 per 1,000 PUT, COPY, POST, or LIST requests	653,112 Requests	\$4.57
Amazon Simple Storage Service SAE1-Requests-Tier2		\$3.17
\$0.0056 per 10,000 GET and all other requests	5,653,193 Requests	\$3.17
Amazon Simple Storage Service SAE1-TimedStorage-ByteHrs		\$5.44
\$0.0405 per GB - first 50 TB / month of storage used	134.221 GB-Mo	\$5.44
US East (N. Virginia)		\$13.34
Amazon Simple Storage Service Requests-Tier1		\$11.89
\$0.005 per 1,000 PUT, COPY, POST, or LIST requests	2,377,068 Requests	\$11.89
Amazon Simple Storage Service Requests-Tier2		\$0.09
\$0.004 per 10,000 GET and all other requests	215,945 Requests	\$0.09
Amazon Simple Storage Service TimedStorage-ByteHrs	3	\$1.36
\$0.023 per GB - first 50 TB / month of storage used	59.023 GB-Mo	\$1.36
US West (N. California)		\$0.11
Amazon Simple Storage Service USW1-Requests-Tier2		\$0.00

	Ziiiiig iiiaiiageiiieiii Geiieeie	
\$0.0044 per 10,000 GET and all other requests	2,213 Requests	\$0.00
Amazon Simple Storage Service USW1-TimedStorage-ByteHrs		\$0.11
\$0.026 per GB - first 50 TB / month of storage used	4.135 GB-Mo	\$0.11
SimpleDB		\$0.00
US East (N. Virginia)		\$0.00
Amazon SimpleDB TimedStorage-ByteHrs		\$0.00
\$0.00 per GB-Month of storage for first 1 GB-Month	0.000001 GB-Mo	\$0.00
WorkMail		\$1.99
US East (N. Virginia)		\$1.99
AmazonWorkMail USE1-WorkMail-NormalTier-UserHr	s	\$1.99
\$4 per user per month in the USE1 region	0.499 User-Mo	\$1.99